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mHTH | EREL BIE R4 9/1(9/2|9/3(9/4|9/5|9/6|9/7|9/8|9/9(9/10[9/11(9/12[9/13[9/14|9/15|9/16|9/17|9/18|9/19|9/20|9/21|9/22|9/23|9/24|9/25|9/26(9/27|9/28[9/29]|9/30| FEiy |:AIE[E%L

t4ERT#&15 | PA—1000 | #h&RAS1m [0.03 0.03 |0.04 |0.04 |0.03 |0.03 0.04 |0.04 |0.03 |0.03 |0.04 0.04 0.03 |0.03 |0.03 0.04 {0.03 |0.03 |0.04 |0.04 0.03
th 3% A2 50.5m|0.03 0.03 |0.04 |0.04 |0.04 |0.03 0.04 |0.04 |0.04 |0.04 |0.04 0.04 0.03 |0.03 |0.04 0.04 {0.04 |0.04 |0.04 |0.04 0.04 2

RENZER | PA—1000 | RN 51m 0.04 0.04 0.04 0.03 0.04
thF H50.5m 0.04 0.04 0.04 0.04 0.04 *

WaE/NER | PA—1000 | #1RAS1m 0.04 0.04 0.03 0.03 0.04
HhFR M 50.5m 0.04 0.04 0.04 0.04 0.04 )

BRINER | PA—1000 | thERASTmM 0.04 0.04 0.04 0.04 0.04
HhF& A 50.5m 0.04 0.04 0.05 0.04 0.04 )

trIERER | PA—1000 | #1ERANS1m 0.04 0.04 0.04 0.04 0.04
HhFR M 50.5m 0.04 0.04 0.04 0.04 0.04 )

FEHRZER | PA—1000 | #iERAS1m 0.04 0.04 0.04 0.04 0.04
R M 50.5m 0.04 0.04 0.04 0.04 0.04 )

FAHHE | PA—1000 | hERASTmM 0.04 0.04 0.04 0.04 0.04
£ il 4

T A 50.5m 0.05 0.05 0.05 0.05 0.05

WrESH#E | PA—1000 | #hERANS1m - - - - #DIV/0!
HhFR M 50.5m - - - - #DIV/0! °

=ILLFHE | PA—1000 | HhERMNDTmM 0.04 0.04 0.05 0.04 0.04
HhFR M 50.5m 0.05 0.05 0.05 0.05 0.05 )

BREMH#E | PA—1000 | HBRMND1m 0.05 0.05 0.05 0.05 0.05
&R 50.5m 0.05 0.06 0.05 0.06 0.06 *

=IWWERERR | PA—1000 | #hEAB1m 0.03 0.03 0.03 0.03 0.03
thF&H 50.5m 0.03 0.03 0.03 0.03 0.03 )

E2MAHHE | PA—1000 | thEHIDTmM 0.05 0.05 0.06 0.05 0.05
HhFR M 50.5m 0.06 0.05 0.06 0.06 0.06 )

%E,—Ci*% PA—1000 |#iFTMD51m 0.04 0.04 0.04 0.04 0.04
23— 4

thF H50.5m 0.04 0.04 0.04 0.04 0.04




